SRS THNEY

1.

PROMOTOBILET
Instructions: ASS-DM-0107
Install frame clamp using frame clamp
instructions. For this application, the ITEM NO. PART NUMBER DESCRIPTION Qry.
stabilizer must be reverse mounted 1 LK-PL154_revA Stabilizer Under-bar Mount Plate (Stock Risers) 1
(Figure 2)_ To reverse mount the 2 VC1-10,9-M10-1,5-70-BLZ M10 bolt, 70mm long (2-3/4") 2

N

W

~

stabilizer; simply reverse the direction of

the transfer arm so that it extends back underneath

the stabilizer.

Remove the stock top handlebar risers (Figure 1).
Lay the handlebars on the front fender.

Remove the stock handlebar risers.

Set the underbar stabilizer mount (Item 1) on the
triple-clamp. The open end of the mount should
face the back of the bike with the slots on each
end facing up.

Reinstall the stock handlebar risers using the

included M10 bolts (Item 2). Torque the riser to 40

Nm (29.5 Ibf*ft). Use the supplied risers and bolts
for assembly ASS-DM-0107R.

Place the stabilizer on the mount with the transfer arm to the side of the tower pin.
Make sure the height of the tower pin is adjusted so that the top of the pin is flush with the top of the transfer

arm. See frame clamp instructions for details.

Insert the tower pin into the slot on the transfer arm and attach the stabilizer to the stabilizer mount using the
two M6 bolts included with the stabilizer. A small amount of semi-permanent thread locking fluid (Blue

Loctite #243 or equivalent) should be applied to M6 bolts.
Install handlebars and handlebar top clamps. Torque the top clamp bolts to 20 Nm (14.8 Ibf*ft)

Figure 1

See our entire product line at promotobillet.com

Ve [T TR

BILLET

Questions? 866-466-4762 | sales@promotobillet.com




